	36 cm = m


	8m3 = dm3

	5800 mm2 = m2

	969 litri = m3

	0,5 Km2 = m2

	500 g = quintali

	2 millenni = secondi

	156 mm2 = dm2

	678 (m = mm 

	5 000 000 nm = mm 

	1350 q = ton

	56 dam = dm 

	4g = Kg


	23000 mm2 = dm2 

	0,008 Km = dm 

	70 (m = nm


…………………………………………………………………………………………………………………..
	36 cm = m


	8m3 = dm3

	5800 mm2 = m2

	969 litri = m3

	0,5 Km2 = m2

	500 g = quintali

	2 millenni = secondi


	156 mm2 = dm2

	678 (m = mm 


	5 000 000 nm = mm 

	1350 q = ton


	56 dam = dm 

	4g = Kg


	23000 mm2 = dm2 

	0,008 Km = dm 


	70 (m = nm


